Math 111 - Test 1 Jan 31 2013

Question 1:

(a)[2] Determine the slope of the line through (—5, —2) and (—4,11) .

A= ?’_}_‘E{l - = (=2) _ [3 - T
X%y - = €5) { - ) > g

(b)[2] Determine the slope of the line through (—3,5) and (2,5) .

me= 979, S-S~ o) ) l
Xy— X, =D S

(c)[3] Determine an equation of the vertical line through (4,7) .

' 1

4 (4,%) =4 |

|
(d)[3] State the slope and y-intercept of the line 4x + 3y = 24 . [
|

3‘9 = —Yx +2Y
= "‘ﬂ_ + I'd
p 7 ©
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Question 2;

(a)[5] Determine an equation of the line through (—5,2) and parallel to the line through (1,2) and (4,3) .
v\
Line  througe (h2) € (4,3)

(’“5‘“‘\97“?— me 3=z . L
4= 3

Se Luwa "&’vagt\ (’317/) olso bas &Caig—e, m:é (Simcc,\f}wp\%/))

So Lot bas eguhon >y = o (x-%)
«61-2-——3'—(7(—(-?))

(b)[5] In 1995 there were 41,235 shopping centres in the United States. By 2005 there were 48,695. Find a
linear equation relating the year x to the number of shopping centres y, and use your equation to predict
the year in which the number of shopping centres will reach 60,000.

H9,69% = 1,237 _

}4\ | K_/M= 2wos cins . Tk

' s
149§ 200% t

 Epee f ¢ (G T G,

boooo - H123T = FHO (t-rs7)

@ __t = 6O ogu =4\ 237 -{-lololf
6

F:-: Q_ozcj

s é = (oe)ozm)
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Question 3:

(a)[5] Eight hundred people attend a basketball game, and total ticket sales are $3102 . If adult tickets are
$6 and student tickets are $3, determine the number of each type of ticket sold.

et X = # agudh

g: = SNMS’.
) X+ = YO0 O = ‘3"—?0@'7
@ (x +3y =302 @ => x+3 (g0 -x) =302

3 x = ZIO.Z’Q‘L(OD

x= 3“’13,__:%15”=R3¢(

vo

20 23U glubt RS amdd STHO Studlend ﬁcw‘r]
el Sold.

S ——

(b)[5] A company manufactures a certain product and sells it for $550 per unit. The fixed cost is $213,000
and the cost to produce each unit is $250. How many units must be produced for the company to break

even?
Lot X = #undts
(= 213000+ 250X
R = 550X

C=R = 2o +t250x = SSUX

X = F10
o HO """W'_{K wud ST b suld fo  break even,
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Question 4:

(a)[5] Sugar has supply equation p = 1.45 — 0.6 and demand equation p = —2D + k where k is some value.
Determine the value of k if the market price is p = 2.9.

At wowKet prie P=24 S s g~
‘oeg, 2.9 = W4 S -0-6

’$ § -~ lvo\ +\?a(ﬂ - Q_cf
{:

oo D = ")\‘5_ M&g wl%,, ")t—' Qlc\,

So 29 = -2(25) «4f

= ./ﬁ = 2.9 +a@y3) =!3r,°\ \

(b)[5] How many pounds of tea worth $4.60 a pound should be mixed with tea worth $6.50 a pound to get
10 pounds of blended tea worth $5.74 a pound?

LeA X = gt dea i 44,60 E"/Tb
3 = wb‘\awf' Cé teo. vt~ ©-5U /1y .

® /X—té = L0
@ .0 X+6.5y = (G o)(s4)

@«:% é'::-tO")C
@ > 4ox+ 65 (10-x) = SHd
Y,k +6S — ¢.S5x =534
lax = +6 = X= X
a‘f)%:xo-x:(o«-(: 6

S A Doty e Bt teal stould e wixedl cat—
6 Punds Y tre Sibnol,
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Question 5 [10]: Solve the following system of equations using either Gaussian or Gauss-Jordan elimi-
nation (no credit will be given for using any other method). Use proper notation to state the row operations
used at each step and clearly state the final solution.

X—2y+4z=206
X+y+13z=6
—2x+ 6y —z=—10
Q-2 4| G
13 b
-L & -1 \-lo
R, = ('I)‘(}-(—‘(“; v -2 4 é -
Ry= 2 *0y |9 31| o
0 Z 3 2
g(’%) L I e O
o © 31| o
o >~ 3| 2
-/ O ( 3 1) N
CA)QH}. oo ® 5
=G0 L L o o -y
, O 1 0 |-6
= lo)fgﬂ“; o o | 2
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